sin(B) = opposite/hypotenuse S
— adi xe’
cos(8) = adjacent/hypotenuse \(\\\QO opposite
tan(B) = opposite/adjacent p
csc(8) = 1/sin(8) adjacent
sec(B) = 1/cos(0)
cot(0) = 1/tan(0)
sin?(u) + cos?(u) =1 1 + tan?(u) = sec?(u) 1 + cot?(u) = csc?(u)

sin(-u) = -sin(u) sin(mt/2-u) = cos(u)
cos(-u) = cos(u) cos(m/2-u) = sin(u)
tan(-u) = -tan(u) tan(m/2-u) = cot(u)

sin(ow £ B) = sin(at)cos(B) * cos(at)sin(B)
cos(a * B) = cos(a)cos(B) = sin(a)sin(B)

tan(a) - tan(p)
1 i tan(a)tan(pB)

tan(a = B) =

sin(2u) = 2sin(u)cos(u)
cos(2u) = cos?(u) —sin?(u) = 2cos?(u)—1 = 1-2sin%(u)

tan(2u) = 2tan(u) / (1-tan?(u))



